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QUESTION 1

Which version of Data ONTAP first supports Flash Pool?
A. Data ONTAP 8.1.1 Cluster-Mode

B. Data ONTAP 7.3

C. Data ONTAP 8.1 7-Mode

D. Data ONTAP 8.1 Cluster-Mode

Correct Answer: A

QUESTION 2

Which boot argument toggles between 7-Mode and Cluster-Mode configurations?
A. bootarg.init.boot_gx

B. bootarg.init.boot_7-mode

C. bootarg.init.boot_cluster-mode

D. bootarg.init.boot_clustered

Correct Answer: D

http://www.ontap8.com/how-to-convert-a-data-ontap-node-from-one-operating-mode-to- the-other/

QUESTION 3

Which are two requirements for the Cluster-Mode solution? (Choose two.)
A. Thunderbolt or LightPeak cabling with backplane interface on storage
B. Management switches

C. InfiniBand cabling with backplane interface for all storage systems

D. FC Cluster switches

E. Cluster switches

Correct Answer: CE

QUESTION 4

When using Data ONTAP 8.1 Cluster-Mode and later, what is the default for new aggregates?
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A. 32-bit aggregates

B. 64-bit aggregates

C. 128-bit aggregates
D. cluster aggregates

E. traditional aggregates
F. Vserver aggregates
Correct Answer: B

https://library.netapp.com/ecmdocs/ECMP1196986/html/GUID-D9F611BC-F7B4-4057- A76B357BBAB7002F.html

QUESTION 5

A customer wants to use Storage Efficiency features on volumes used for backup/archive data. The customer is not
concerned with performance degradation and is only concerned about storage efficiency.

Which three Storage Efficiency features should be turned on to meet these needs? (Choose three.)
A. deduplication

B. post compression

C. storage QoS

D. inline compression

E. SyncMirror

Correct Answer: ACE
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